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  Πληροφορικής	
   Φθινόπωρο	
  2011	
  
	
  

ΕΠΛ	
  003.2	
  –	
  Ασκήσεις	
  μετατροπής	
  από	
  και	
  σε	
  δυαδικό	
  σύστημα	
  
Μετατρέψτε	
  τους	
  πιο	
  κάτω	
  αριθμούς	
  από	
  δυαδικό	
  σε	
  δεκαδικό	
  σύστημα	
  αρίθμησης	
  

Α1.	
  11100011<2>	
  à	
  ?<10>	
  

Α2.	
  10110100<2>	
  à	
  ?<10>	
  

Α3.	
  110110<2>	
  à	
  ?<10>	
  

Μετατρέψτε	
  τους	
  πιο	
  κάτω	
  αριθμούς	
  από	
  δεκαδικό	
  σε	
  δυαδικό	
  σύστημα	
  αρίθμησης	
  

Β1.	
  201<10>	
  à	
  ?<2>	
  

Β2.	
  99<10>	
  à	
  ?<2>	
  

Β3.	
  64<10>	
  à	
  ?<2>	
  

Β4.	
  127<10>	
  à	
  ?<2>	
  

Απαντήσεις	
  
Θυμηθείτε:	
  

27	
  =	
  128	
   26	
  =	
  64	
   25	
  =	
  32	
   24	
  =	
  16	
   23	
  =	
  8	
   22	
  =	
  4	
   21	
  =	
  2	
   20	
  =	
  1	
  
	
  

Μετατρέψτε	
  τους	
  πιο	
  κάτω	
  αριθμούς	
  από	
  δυαδικό	
  σε	
  δεκαδικό	
  σύστημα	
  αρίθμησης	
  

Α1.	
  11100011<2>	
  à	
  1	
  1	
  1	
  0	
  0	
  0	
  1	
  1	
  <2>	
  à	
  128	
  +	
  64	
  +	
  32	
  +	
  0	
  +	
  0	
  +	
  0	
  +	
  2	
  +	
  1	
  <10>	
  à	
  227<10>	
  

Α2.	
  10110100<2>	
  à	
  1	
  0	
  1	
  1	
  0	
  1	
  0	
  0	
  <2>	
  à	
  128	
  +	
  0	
  +	
  32	
  +	
  16	
  +	
  0	
  +	
  4	
  +	
  0	
  +	
  0	
  <10>	
  à	
  180<10>	
  

Α3.	
  110110<2>	
  à	
  1	
  1	
  0	
  1	
  1	
  0	
  <2>	
  à	
  32	
  +	
  16	
  +	
  0	
  +	
  4	
  +	
  2	
  +	
  0	
  <10>	
  à	
  54<10>	
  

Μετατρέψτε	
  τους	
  πιο	
  κάτω	
  αριθμούς	
  από	
  δεκαδικό	
  σε	
  δυαδικό	
  σύστημα	
  αρίθμησης	
  

Β1.	
  201<10>	
  à	
  128	
  +	
  73	
  	
  à	
  128	
  +	
  64	
  +	
  9	
  à	
  128	
  +	
  64	
  +	
  8	
  +	
  1	
  à	
  11001001<2>	
  

Β2.	
  99<10>	
  à	
  64	
  +	
  35	
  	
  à	
  64	
  +	
  32	
  +	
  3	
  à	
  64	
  +	
  32	
  +	
  2	
  +	
  1	
  à	
  01100011<2>	
  à	
  1100011<2>	
  

Β3.	
  64<10>	
  à	
  64	
  à	
  01000000<2>	
  à	
  1000000<2>	
  

Β4.	
  127<10>	
  à	
  64	
  +	
  63	
  	
  à	
  64	
  +	
  32	
  +	
  31	
  à	
  64	
  +	
  32	
  +	
  16	
  +	
  15	
  à	
  64	
  +	
  32	
  +	
  16	
  +	
  8	
  +	
  7	
  à	
  64	
  +	
  32	
  +	
  
16	
  +	
  8	
  +	
  4	
  +	
  3	
  à	
  64	
  +	
  32	
  +	
  16	
  +	
  8	
  +	
  4	
  +	
  2	
  +	
  1	
  à01111111<2>	
  à	
  1111111<2>	
  


